
Knase Co Inc.            Product Price List Carcass Drop and Parts

808 Rice Street Suite 2 St. Paul, MN. 55117
phone 651-488-7744 Fax 651-488-7727

Last updated [DATE]

Reference No. Part No. Description List Price Bulk Price 
Per Unit*

80050 E-Z Carcass Drop Right Hand $1,875.00
80051 E-Z Carcass Drop Left Hand $1,875.00

401 64010 Reel $495.00
402 64025 Frame Universal RH/LH $432.00

403 64035 Link Universal RH/LH $95.00

404A 64040 Pivot Hub and Pivot Lever Universal RH/LH $65.00

405 64050 Lever Universal RH/LH $155.00

406 64060 Adjusting Screw $35.00
407 64070 Brake Band Assembly $175.00

407C 64071 Spacer $14.00
408 64080 Reel Bolt $70.00
409 64090 Counterweight $120.00
410 64100 Recoil Spring $130.00
412 64120 Recoil Spring Mount $60.00
413 64130 Back Cover $140.00
414 64140 Front Cover Right Hand Discountined
414 64141 Front Cover Left Hand Discountined
415 64150 Chain $110.00

415A 64151 Connecting Chain Link $8.00
416        64160-5/16" Link Mount Bolt 5/16" $18.00
417 64170 Brake Band Spring $35.00
418 64180 Oilite Bushing $19.00
419 64190 Lever Mount Bolt Old Style 1/4-20x5/8" $1.00

419A 20750 Lever Mount Bolt New Style 1/4-20x1" $3.00
420 64200 Recoil Spring Retainer $24.00
421 64210 Adjusting Screw Stop Nut 5/16-18 Nylock $1.00
423 64230 Mounting Bolt For 64120 $2.00
424 64240 Screw 10-24X1/4" $1.00

424A 64241 Lock Nut 10-24 Nylock $1.00
424B 64242 Star washer #10 $1.00
425 64250 Jam Nut 5/8-11 $3.00
426 64260 Spiral Pivot Pin $6.00
427 64270 Chain Mount Pin $12.00
428 64280 Count weight Bolt Old Style Obsolete Discountined

428,A,B,C 64281 Count weight Bolt New Style 5/16-18x3" $2.00
430 64300 Handle $25.00
431 64310 Nylon Rope 6 Ft $7.00

1



432 64320 Snap Ring $2.00
433 64330 Link Stop Bolt $2.00
435 64350 Reel Bolt washer $1.00
416          64160-3/8" Link Mount Bolt 3/8" $26.00 

64360 Weight Wire $41.00
5/1/22

2



3



4


